03 11 26

G )
12,961 | 12,961 | o | o | 0 0

R2 R4
27kn SOH(RL ) TTH(RA )

59 77
2 SO0KRL )  56H(R4 )

50 56
2 9

1208 1208
5 ORI ) BH(R4 )

0 8
60 S2(RL ) 95H(R4 )

52 %

1 0000437790




R02 |R03 [R04 [ROS5 [RO6

A07-001 L= LI B 3,297
A07-002 LI B 782
A07-003 L= LI B 214
A07-004 LI B 1,125
A07-005 LI B 2,924
A07-006 LI B 1,141
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R02 |R03 [R04 [ROS5 [RO6

A07-007 u 210
A07-008 " == 235
A07-009 L= " == 2,309
A07-010 " == 71
A07-011 " == 501
A07-012 " (== 4
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R02 |R03 [R04 [ROS5 [RO6

A07-013 e 100

A07-014 e 48
[ L[] 2,91 |
| 1] 291 |
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R02 RO3
@ 2,177 1,756

(b) 0 0

(c=a+b) 2,177 1,756
(@ 0 1,635

e 514 2,161

() 1,663 1,230

@ 815 744

(h = c+d-e-f) 0 0
(i = (g+h)/(c+d)) 37.43 21.94
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